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Instruction | 3288 | 3%BA

. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
TEARMCE) B 2 AR > 35 A 2B B e 3 1 -
TEARWCE W55 LI 7R AT > 16 APt -
2. This is a 25 question multiple choice test. For each question, only one answer choice is correct.
iE A — BRSNS E H A EIEREE R
X EARE2SE R W FEEEH A — A IEWRE S -

3. Mark your answer to each problem on the answer sheet with a pencil. Check blackened answers for accuracy
and erase errors completely. Only answers that are properly marked on the answer sheet will be scored..

R RE R H PR S SRR AE S R b R B A R R IR (R T PR R > RIS 5E
EEREBINE R o WAREERGEEL E R LG RA YD -
TR H A R AT EAREAEERR L o ETE R A RS B R G R T EaaE » AR 52
EEEERINER - ARSI EELT SR LNERA SWEED -

4. Every question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 100 points.

TEE H AL ER D » BEE BRI > BEEZEAR0 - ARHEHI 7510053 ©
TR H AL E M E o R XA 2 > B ZE BAR05) o AR I 23 910053 ©

. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test reguire the use of a calculator.

HREf I FRRAR ~ TAgaR ~ R~ BAGAGSAER TR © 3HESR A SFFE AR o iR
AT AT o] R R Db ZE 5 20l Pl 5

FURERE A RARAR ~ B4t ~ R~ BAGTSE/E NI TH o AR AP o WP s
AT AT DL 5 A TS

Figures are not necessarily drawn to scale.

B A — et L A L o

BITEA— L L2 )

Before beginning the test, make sure to write the Competition Code “Pre-Ecolier”, your name and

Competition ID with your signature on the answer sheet, especially to bubble in the 9-digit Competition 1D
completely!

TEBR UG H > FEREOR A B ZE ARG “Pre-Ecolier” » #E A FIHEE R RIS fEE - LIL#E 4 - FF
B JEORLHE 78 5% 1 5 AL 7 DA I AR R SR RT3
TEIF R Z /Y - iR K SE SRS Pre-Ecolier” » Ik A FNUEF IE S IH G EE 8~ 24 - ¢
A FEIBLEE -5 10 45 AL AT CRURIFAR B R TT B -

. You will have 75 minutes to complete the test once your proctor tells you to begin.
B A EAT R IR - VR AT S 43 8 Y IR ) 5 FRGHI At o
W I EAT I IRIG > UK TS5 PP I ) 58 it -
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2025 Hong Kong Mathematics Kangaroo Contest - Pre-Ecolier (Grade 1 & 2)

‘ Part 1: 8 problems, 3 points each

(%5 8EER, SW34 | H—H4: 8 HEH, HE3 5

1. Alex stepped on some tracks on the ground. What is beneath her shoe?
Alex SRE| T 3, B — etk . MIL BT T @0 RITTEM?

Alex 35| TH Lo — 2% Pl ETF T HORTEEHNG?

[Proposed by Iran | {7 BBt | 7 BAAL A |

2. Nico and his little sister pay with shells and marbles in their playshop. Each shell has a
value of 6 and each marble has a value of 1. Which of the following has a total value of
16?

Nico Feft &9 Nk Ik £ A 69 2R B JE ) R B A2k 4. A A R1A R 6, AR
B91RAE 2 1. P T 3I9R—I8 b9 kAR E 2 167

Nico Frfl &9 Nk Ik LA G FE KT E A N e it sk AT, AN EHMIERL 6, FA MK
BMAER . FA TR —R G ENIEE 16?2

Nl
M)§w2§w%' m)§w%§§§ m)§@>é®7

QO OO

(D) w@ (E) ww

[Proposed by Germany | & B 428 | & E A4 |
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2025 Hong Kong Mathematics Kangaroo Contest - Pre-Ecolier (Grade 1 & 2)

3. 5baby kangaroos are hopping to their mothers along the paths shown below. Which path

is the shortest?
58 EREET @I TRAEIEG S 094545 . PR R4S T 4a 2

5 RNVERLE T @A TR 2EGTAIGIES . PR &%52 RE?

NSHIE E % . g
) %@ v

[Proposed by China | ¥ B4 | J E 44 |

(A)

(D)

4. On Michael’s toy shelf, there are no turtles, no rabbits and no robots. Which of these
shelves could be Michael’s shelf?

#Michael 495t L2 L, AR &, AA KT, LAAHEA. B A TIR—18 T 4 2 Michael
U EZo0 R

J Michael 893t L2 L AR & %, %5 H F, LWEFIEA. B VL THR—A 48 % Michael
EUEZ8 R )

(A) (B)

Q) (D)

(E)

[Proposed by Pakistan | EJkA7ia4iRa | & J A7 ia 440 |
2025 A A BB R BHE— D ERFR 2 2025 A B RS R BER— D FRF R



2025 Hong Kong Mathematics Kangaroo Contest - Pre-Ecolier (Grade 1 & 2)

5. A large square is formed from 16 small squares of the same size. Then some of the small

squares are removed. How many small squares are missing?

— B KEFH G 16 BRI K NEFHER. At — N NEFHEBET. MV T3
Y AB )N B I P
—ANKEFHH 16 ANEAE RPN NEFHER. RE—R N NEFHEERT. FE VT %

AN E TG ?

(A) 4 (B) 5 ©) 6 (D) 7 (E) 8

[Proposed by Afghanistan | & TAERE | 7% T4 |

6. Charles has 5 wooden toys, as shown in the picture. He picks 2 pairs of toys so that the
pairs weigh the same. Which toy was not picked?

4o B 7w, Charles /7 5 B AR H LA, BT MF L, RFHRALYEZSHE. MR

18 50 P 7% A A e 2
o B B 7, Charles £ 5 A ARHI A . fedkit T AL, HAEFHAHGEETME. WL
ANFCRL A AL ?

\

11g 12¢g

(D) ! (E) I

(A)

[Proposed by Brazil | & & | & &4 |

7. Daniel is 5 years old. His brother Dominic is 6 years older. What will the sum of their

ages be in 7 years’ time?

Daniel 44 5 3%, #6935 Dominic thib X 6 3&. B 7 F14, 5869852 % )2
Daniel 445 %, tb#)34 Dominic Ltk X 6 % . 97 )5, RAVFHGEFEL J?
(A) 26 (B) 27 (O 28 (D) 29 (E) 30

[Proposed by United Kingdom | B4R | &£ E444 |

2025 & BB E R R R — D FIFR 3 2025 A HBF R RER— D FRFAR
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Y00
¢

(O]

All the buttons on Carola’s sweater look like the above. Which one of these buttons could

be from her sweater?
Carola £ R L9 tnfe A AR E@mAEE. P TAMB L0 Jo 7T 48 42 A A 69 2 R°?
Carola £ L6 P 40 Jo 5 A2 kAR L @ ARAE . FLATYIRAN AL 47T Ak R B Ao o) £ %2

(O]
Y0 S, Y0 0oY 00
.@ ©,) "@ ° ,,@ ©. e° %o ’© ©.)
(A) (B) © (D) (E)

Proposed by Estonia | % iy R AR | & 3 & AR |

0o ©

Part 2: 9 problems, 4 points each
BoES: 9EEH, SE4H | ETHH: O HER, BEL S

9. A dog has 2 puppies that weigh the same. The first picture shows that the dog and 1
puppy together weigh 14 kilograms. The second picture shows that the dog and both
puppies together weigh 18 kilograms. What is the weight of the dog in kilograms?

=

—EAARETERAG . F-RARTAF—E I ANREFX4TA. S5k
BEAfRE I HOREFRI8 T L. MANTERS ST 4
—RHABREEARG N, F—RBALFAF—R PO TERILF L. KA
EESTS P ORTITES = S SUES M-I s S E DR L

(A) 9 (B) 10 O 1 (D) 12 (E) 13

[Proposed by Vietnam | A& d4# | A A |

2025 H AR E R ARF— D FIRFHL 4 2025 FH#HHF B RER— D FIRLFR
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10. Six children took part in a race.
e Ariadne finished in the third place.
* Biel finished sixth, just behind Ernest.
e Fatima finished between Ariadne and Ernest.
e Diana overtook Charles right before the finish line.
Who won the race?
NBIZ T ST —H .
o Ariadne #7137 % =
* Biel 13 7 %%, R34 Ernest 121 .
e Fatima /& Ariadne #= Ernest = [ & A L& .
e Diana #4254 A48 i# T Charles.
AT T LE?
AT S T — k.
e Ariadne 137 #£=4%.
Biel 3137 %%, WM|4F#& Ernest = .
Fatima /& Ariadne #= Ernest = & %, s bt 5% .
 Diana 2% & & aT#2 1L 7 Charles.

WamAT T LD
(A) Ariadne (B) Charles (C) Diana (D) Ernest (E) Fatima

[Proposed by Catalonia | &% & B4 | v ¥ R IEAEA |

11. Tom wishes to slice a pizza into 2 halves. He also wishes to have the same number of
tomatoes on each half. It is possible for him to do this with two different cuts. Along

which lines could he cut?

Tom #Bie—BHKEH IR F. WA Z2HE—F L EREEME. T AR RERE G
ERAML ) — B, P VAL AR e AR by 2

Tom i — AN EGFIRAF. WA LHF—F L ERLEME. AT AR BFRE G0
R IX — B BT AL AR K b ?

A) 1,3 (B) 1,4 < 2,3 (D) 2,4 (E) 3,4

[Proposed by Norway | #ps/#2 | #f AL A |

2025 A B LB RER— D EIKEB 5 2025 HAHHBFRAER —DFIKFAR
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12. There were 12 pieces of fruit on the table. Vera removed 2 pears, 4 apples and half of the

oranges. Now there are only oranges left on the table. How many oranges are left?

R ERI2MEAKR. Vera £ 7T 24, 4EARP—FHET. RERXELAMTHT. M
# LR A KB T

BERFI2AKRE. Veral A T2, A ANERFo—F0BF. AR ERH THAETF. 1
2 EiT R JUANEF?

A1 (B) 2 © 3 (D) 4 (E) 6
[ Proposed by Russia | 4% 2 M #5A8 | 4% F A AL |

13. Two rubber bands are placed around a stack of 18 cubes. How many of the cubes are not

touching a rubber band?
WARAR R B /ety 18 18 s 7 R AL AR AR Rl . MR 5 U8 s 7 R A R AR B RS 2
B AR BAed I8 AL RN HAT R\ . FIA 5 0 A2 I IR B ik 2RO #

(A) 6 (B) 8 © 9 (D) 10 (E) 12
[Proposed by Denmark | FF4-B4A8 | 7+ £ 44 |

14. Each ladybird sticker has 1, 2, 3 or 4 dots. Amit wants to fill the grid with stickers so that
in each row and in each column there are ladybirds with different numbers of dots. When

Amit is finished, what will the top row of the grid look like?

KB AEu ETAA 1, 2, 3, 4188 . Amit 42 FAREMIL G S A, IR ETET T
REVEEHAETME . FE Amit TR, TR E T8 RAET?

MERMLKETAR 1, 2, 3, 44N 6. Amit A 20 W4 T iR, RAFHEATRES T8
KA EHAETAE . B G Amit TR, FTREKGE TRt LHT?

ﬁ%rﬂ Jal
B it
@ (B) @@ (C)@@@
i (E)

[Proposed by Poland | % #4428 | & 244 |

&
-

Ja

A
o8/

(A)

=
(D) {l}

104
Bt

0| [0

3t
i

()
&
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2025 Hong Kong Mathematics Kangaroo Contest - Pre-Ecolier (Grade 1 & 2)
15.

There were three books on Mary’s shelf, as shown in the picture above.
e First, Mary swapped the white book and the grey book.
e Then Mary swapped the grey book and the black book.

How are her books arranged now?

Mary 9 E R LR =ZAE, Ww LEPTT.
* Bk, Mary ik T EEfREZTHILE .
o K1k, Mary X# T A EERZEEHLE.

MR AR 6 F R E R HE S 92
Mary &) 4 & LR A Z AL, do LEHTF.

* Bk, Mary k7T @& Hfo k& FH 9L E .
e RJg, Mary X# T REFFLZEHIHILE.

) JLA 8 5 RE XA HEF 692

(A) (B) i Eﬁ i (E)

[Proposed by Poland | & Bi#5R8 | & 2454

16. A floor is covered in square tiles. There are 4 rectangular mats on the floor. In total, how

many tiles have 3 mats on top of them?
W LSFETH LR, BB ERARKGIVET. MAAR S IEd Lok 3RET?
WM LA ETH B MR ER 4 RRFTVAET. FRA S Ik bah 3 ki Fe

(A) 0 (B) 1 © 2 (D) 3 (E) 4

[Proposed by Greece | A #A | A 4542 |

2025 A B LB RER— D EIKEB 7 2025 HAHHBFRAER —DFIKFAR
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17. The digits 1 to 9 are to be placed in the white circles, one per circle. We wish that the
numbers in the blue circles to be the sum of the numbers in their neighboring circles (the
ones joined to them by a segment). What number must be placed in the circle with the

question mark?

HBEFLIHAIAANGERNR Y, SFEABNA—ERT. KMNAZELERB ¥ EE L
AREE (PpRe@@fEn @E) FRFOEF. MBA MR E B P L ARNE
HoF?

BHFLHIANGERBR T, FANABAA—ANKT. RNAZEER B 69202 L8
AARE (TRt BAmEdEEB) FRFOE . FIFRA RS 6 B L AENARA
5P

(A) 3 (B) 4 Q5 (D) 6 (E) 7

[Proposed by Greece | 7 B4 | 4 f4k 4 |

‘ Part 3: 8 problems, 5 points eachJ
(=64 8B, SE5H | £S5 8HHE, 5HE5 9

18. A pair of scales is used to weigh three different objects, and the results are shown below.
Each type of object has a different mass. The masses can be 1, 2, 3, 4, or 5 kg. What is the

mass of one in kilograms?

A—E R FABZBIEGHEE, ERTEHT. FREARNHBERATIRANEE. &
FTURL, 2, 3, 4 K5 F 4. M—fAld 9HERS ST 42

A—& RFRBREATRGYIR, ERTHT. BHERGHEEATRYEE. £
ETURL, 2, 3, 4 K5 F 4. M- A HEEES S F A

A) 1 (B) 2 Q3 (D) 4 (E) 5

[Proposed by China | & B4 | B 44

2025 & BB E R R R — D FIFR 8 2025 A HBF R RER— D FRFAR
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19. Ann buys 3 chocolate bars. Tom buys 5 chocolate bars. Tom paid 8 euro more than Ann.

What is the cost of 1 chocolate bar in euros?

Ann B 7 3755 h#%. Tom B 7 58358 h#%. Tom tb Ann 4447 8 L. B —1fE35 %
H P bR # R TP

Ann £ 7 3 A e hé. Tom £T7 5478 Ah%. Tomtbk Ann 4447 8 L. B—/A35 %
T M 6 WA =LA ?

A) 1 (B) 2 ) 3 (D) 4 (E) 5

[Proposed by Netherlands | # B4t | # 2454 |

20. The picture shows the page for one month of a calendar, without any of the dates. The
total of the dates for the 2 shaded days is 29. On what day of the week does the first day
of the month fall?

THETHEEANAGB R, REAIFE Y. AAMYBHGERE29. FIXANAGE
—RXAZHIL?

THAZFORZENAGB G, 2EAFEBH. AANARYBHGERZ2. FENAHGE

—RAZHIU?
Mon | Tue | Wed| Thu | Fri | Sat | Sun
Mon: Monday | 28— | 24— Tue: Tuesday | ZH= | ZH =
Wed: Wednesday | ZH = | 2= Thu: Thursday | Z#4ive | ZH4ivg
Fri: Friday | 28 & | 2 A Sat: Saturday | 2~ [ 245

Sun: Sunday | 218 | 2408

(A) Monday | 24— | 28— (B) Tuesday | 2= | 284 =
(C) Wednesday | 281 = | ZH = (D) Thursday | 2#w | 24w

(E) Sunday | 248 | 248

[Proposed by Greece | A /B | A AL |

2025 & BB E R R R — D FIFR 9 2025 FH#HHF B RER— D FIRLFR
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21. The pictures below show the front and back of an object built from coloured cubes. The
object is broken into three pieces. Two of the pieces are shown below. Which of these is
the third piece?

TEETT —AEHELF7RAROIYEYEOFT B, SEADEEFIRT ZH. TE
BETFTHEPORMB. FATIELZE =30?
TEHEFTT —ANEHELHTIRARGYRGEG T @, INMEREFEIRT ZH. ThE
BTRTEPOHE, FIRATIALSE =3

Front | IET | IETH Back | i | . ‘ ﬂ

Q) ® ®

7 7

@) ® [ ol 111 o ®

[Proposed by China | J B4 | P E 44 |

>

22. Ivan wrote down all the two-digit numbers and circled those in which either the units

digit or the tens digit is greater than or equal to 5. How many numbers did Ivan circle?

Ivan & T 7 BrA 69 micd, HEH T AR RBILE T T2 F KAFA5 3. # Ivan
FEET S AR

Ivan 5 F 7 A RALE, B S TAREMIEF R TZHFKTFT 564 1 Ivan
FEET 3 IR

(A) 25 (B) 50 (O 55 (D) 70 (E) 75
[Proposed by Russia | 4% ZE #4420 | 1K F AT 4442 |

23. The construction below uses 11 identical bricks. The construction has length 100 cm and
width 60 cm. What is the size of each brick?

TaeEEER T 11 RinR 6. SEERGRZE100 2R, 260 ZK. MAHRAY

RFAS 2
TEMAELR T 11 et R 6rE. XAMA YKL 100 2K, L 60 B K. FHIit
ISEETE
| | |
60 cm
| |
- 100 cm -
8 cm |:] 10cm :] 12cm |:]
(A) 40 cm (B) 40 cm (@) 40 cm
8cm :l 10cm |:|
(D) 44 cm (E) 50 cm

[Proposed by Greece | A JfA%A | A 54tA4 |

2025 A B LB RER— D EIKEB 10 2025 HAHHBFRAER —DFIKFAR
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24. Ingrid decides to paint each square in the shape below so that squares painted the same
colour do not touch. She paints 4 squares red, 3 squares blue, 2 squares green and 1 square

yellow. Which colour did she paint the square marked with the X?

Ingrid k€% TE P HHMBIESFH LE, EFEAMERAENIEZH RMAR. dbie 4 EET
HERLE, SAEFHERES, 2B EFTHERG&E, 1 BEFHERETE. Mol
TXEFTHERTHBEAE?
Ingrid 2 R4 THAFOHEMNESZHRE, EFHRARMAENETH RIBLR. dbfe 4 NEF
Wk l, SNAEGTHEREE, 2AEFHBBEREE, 1 NEFHEREE. Fibietr
HXGEFTHERTHLRAE?

X
(A) Red | 418 | &8 (B) Blue | & & | &
(C) Green | 48 | & (D) Yellow | & | ¥ ¢&

(E) Impossible to know | & %#k & | ik %
[Proposed by Afghanistan | & TALRE | 7% T4 |

25. Each time a coin is put in the machine, a ball falls at random from the bottom row. What

is the smallest number of coins Bahar must have to be sure that she will get a white ball?

HREMBRBN—PE, RTEH—ATHREEREFZ @R, ] Bahar RV ZHANZ S
AW o REAEARILAE AT 2] — (B G & ey k2

FRENZEEZBN—HRT, RTEH TR E— AR, 1 Bahar &y B8NS )
AT AR AL A AT 2] — AN G &8y ke

$
2

=
/'\\” ’f///

(A) 6 (B) 10 (G RN (D) 12 (E) 15

[Proposed by Turkey | +F k88 | £ F AL

2025 A B LB RER— D EIKEB 11 2025 HAHHBFRAER —DFIKFAR



